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using namespace std;
struct PCB
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string name;
int arrive_time;
int service_time;
int exit_time;
int wait_time;
double quan;
bool ifrun;
int RR_time;
} pcb[10];
queue<PCB
Que[100];
MQ[5e][5e];
fcfs[10];
sjf[10];
hrrn[10];
rr[10];
mfq[10];
top=0;
bool cmpSJIF(PCB a,PCB b)
{

return a.service_time<b.service_time;

}

bool cmpHRRN(PCB a,PCB b)
{

return a.quan>b.quan;

)i

void menu()
{

printf(
printf(
printf(
printf(
printf(
printf(
printf(
printf(
printf(
printf(

s

void init()

i

pcb[0]
pcb[1]
pcb[2]
pcb[3]
pcb[4]

s

void input()

{

for(int i=0; i<5; i

{

,0,3,0,0,0,false,0};
,2,6,0,0,0,false,0};
,4,4,0,0,0,false,0};
,6,5,0,0,0,false,0};
,8,2,0,0,0,false,0};

)

printf(
printf(
pcb[i]
printf(
pcb[i]
printf(
pcb[i]

cin

cin

cin

»1);5
)s
.name;
)
.arrive_time;
)

.service_time;




printf( );

printf( );

for(int i=0; i<=4; i++)
cout<<pcb[i].name
printf( )
for(int i=0; i<=4; i++)
cout<<pcb[i].arrive_time
printf( )

for(int i=0; i<=4; i++)
cout<<pcb[i].service time
printf( );

system( );

}

void output(PCB a[])

{

int sumzhou Q;

double sumdai Q;
printf(

for(int i=0; i<=4; i++)
{
cout<<al[i].name
printf(

,a[i].arrive_time,a[i].service_time,a[i].exit_time,a[i].exit_time-a[i].

arrive_time, (a[i].exit_time*1.0-a[i].arrive_time)/a[i].service_time*1.0);

}
for(int i=0; i<=4; i++)

{

sumzhou+=a[i].exit_time-a[i].arrive_time;

sumdai+=(a[i].exit_time*1.0-a[i].arrive_time)/a[i].service_time*1.0;

s

printf(

system( );
s

void outputQue(int front,int rear)

{

printf( )

for(int i=front; i<rear; i

{

cout<<Que[i].name;

}

cout<<endl;

}

,sumzhou*1.0/5,sumdai/5);

void outputMQ(int index,int front[],int rear[])

{

cout<<endl;
for(int i=0; i<index; i++)

{

printf( ,i+1);
for(int j=front[i]; j<rear[i]; jJ

{
cout<<MQ[i][j].name;




cout<<endl;
)i
cout<<endl<<endl;
)i
void outsum()
{

cout
output(fcfs);
cout
output(sjf);
cout
output(hrrn);
cout
output(rr);
cout
output(mfq);
)i
void FCFS()
{

top=0;

PCB p= { ,0,0,0};
int now 0;
int flag = 0;
int r=0;
while(1)

{

if(flag 0&&p.name

{

cout<<now p.name
p.ifrun true;
fcfs[top++]=p;

¥

if(top 5)

break;

for(int i=r; i<5; i++)

{
if(pcb[i].arrive_time now)
{
q.push(pcb[i]);
cout<<now pcb[i].name
r=i+1;
)i

)i

if(flag (%] g.empty())

{

p = gq.front();

q.pop();

cout<<now p.name
p.exit_time p.service_time+now;
flag p.service_time;

}

nNow++;
if(flag>0)




flag--;
Sleep(509);
}
output(fcfs);
}

void SJF()

{

0;

int front 9;
int rear 0;
PCB p= { ,0,0,0};
int now 0;
int flag = 0;
int r=0;
while(1)

{

if(flag 0&&p.name

{

cout<<now p.name
p.ifrun = true;
sjf[top++]=p;

}

if(top 5)

break;

for(int i=r; i<5; i++)
{
if(pcb[i].arrive_time now)
{
Que[rear++]=pcb[i];
cout<<now pcb[i].name

sort(Que+front,Que+rear,cmpSIF);

r=i+1;
s
s
if(flag 0&&front!=rear)

{

p = Que[front++];

cout<<now p.name
p.exit_time p.service_time+now;
flag p.service_time;

}

nNow++
if(flag>0)
flag--;
Sleep(509);
s
output(sjf);
b




int rear
PCB p= {
int now
int flag
int r=0;
while(1)
{

if(flag 0&&p.name

{

cout<<now p.name
p.ifrun true;

hrrn[top++]=p;
b

if(top 5)

break;

for(int i=r; i<5; i++)
{
if(pcb[i].arrive_time now)
{
cout<<now pcb[i].name
Que[rear++]=pcb[i];
r=i+1;
)i
)i
if(flag 0&&front!=rear)

{

for(int j=front; j<rear; j++)

Que[j].quan (Que[j].wait_time*1.0+Que[j].service_time)/Que[j].service_time;

sort(Que+front,Que+rear, cmpHRRN) ;

p = Que[front++];

cout<<now p.name endl;
p.exit_time p.service_time+now;

flag p.service_time;

for(int i = front; i<rear; i++)
{
Que[i].wait_time++;
b
if(flag>0)
flag--;
Sleep(500);
b
output(hrrn);
s

void RR()

i

int t=0;

top Q;

int front 0;
int rear 0;




PCB p= {"0",0,0,0};
int now 0;
int flag = 0;
int r=0;
int time;
printf(
scanf( ,&time);
while(1)
{
if(t time)
t=0;

for(int i=r; i<5; i++)
{
if(pcb[i].arrive_time now)
{
cout<<now pcb[i].name
Que[rear++]=pcb[i];
outputQue(front,rear);
r=i+1;
)i
)i
if(p.name
{
if(p.RR_time p.service_time)
{
cout<<now p.name
p.exit_time=now;
t=0;
rr[top++]=p;
if(top 5)
break;
p.name
b
else if(t 9)
{
cout<<now p.name
Que[rear++]=p;
outputQue(front,rear);

}

}

if(t front!=rear)
{

p = Que[front++];
cout<<now p.name
outputQue(front,rear);

p.RR_time++;
Sleep(509);

}
output(rr);




front[10] ;
rear[10] ;
memset (front,0,sizeof(front));
memset(rear,0,sizeof(rear));
int time[10]= {1,2,4,8,16};
printf(
scanf( ,&num) ;
PCB p= { ,0,0,0};
int now 0;
int r=0;
int index=0;
t=0;
while(1)
{
if(t time[index])
t=0;

for(int i=r; i<5; i++)

{

if(pcb[i].arrive_time now)
{
cout<<now pcb[i].name
MQ[@][rear[@]++]=pcb[i];
outputMQ(num, front, rear);
r=i+1;
)i

}

if(p.name

{

if(p.RR_time p.service_time)

{

cout<<now p.name

p.exit_time=now;
t=0;
mfq[top++]=p;
if(top 5)
break;
p.name
b
else if(t 9)
{
cout<<now p.name
if(index+1<=num-1)
MQ[index+1][rear[index+1]++]=p;
else
MQ[index][rear[index]++]=p;
outputMQ(num, front, rear);
b
s
if(t 2))
{
int ff=0;
for(int i=0; i<5; i++)
{
if(front[i]!=rear[i])
{
ff=1;

index=i;




break;

)i

)i
if(ff==1)
{

p MQ[index][front[index]
cout<<now p.name

}

outputMQ(num,front,rear);

p.RR_time++;
Sleep(509);
}
output(mfq);
}

int main()
{

int n;
init();

while(1)
{
menu();
scanf( ,&n);
switch(n)
{
case 1
input();
break;

case 2

display();

break;
case 3
FCFS();
break;
case 4
SIF();
break;
case 5
HRRN() ;
break;
case 6
RR();
break;
case 7
MFQ() ;
break;
case 8
outsum();
break;
case ©
exit(1);
break;
default
printf(
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